Pay Estimate Created Date: June 2, 2025

Progress Estimate Number 4	- J			17-H08 Pay Period Start May 16 Electric, Inc. Pay Period End June 1						
Approval Date								By User		
June 2, 2025			Generated	and Approved ((and should	be considered	Draft) at the Project Office Level by	thomar1		
June 2, 2025			Reviewed and A	Approved (and s	should be co	onsidered Dra	ft) at the Resident Engineer Level by	stottt1		
June 4, 2025		ral Office Controllers Office Level by	ramses1							
Original Completion	on Date	Current Co	mpletion Date	Actual Completion Date % of Current Contract				t Complete		
November 1, 2	025	Novem	ber 1, 2025	32.40%						
	Co	ontract Informat	ional Dates				Milestones			
Date Description	Original Co	ompletion Date	Current Com	oletion Date		No Milest	ones Exist for Contract			
Acceptance Date										
Awarded Date	June 5, 202	4	June 5, 2024							
Letting Date	May 17, 202	24	May 17, 2024							
Notice to Proceed Date	July 8, 2024	1	July 8, 2024							
Work Began Date	April 10, 20	25	April 10, 2025							

Contract Total Pay For Estimate No. 4

		This Estimate	Previous	To Date	
240517-H08					
	Total Posted Items Pay	\$140,617.75	\$348,861.80	\$489,479.55	
	Gross Item Adjustments	(\$4,125.00)	(\$5,700.00)	(\$9,825.00)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$343,161,80	\$479.654.55	

\$136,492.75

Contract Total Payable This Estimate: Items Paid This Estimate Period

		<u>r enou</u>					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSE0169	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$20,000.000	0.200	\$4,000.00
	0030	6169901	MISC.TEMPORARY TRAFFIC CONTROL	LS	\$65,000.000	0.100	\$6,500.00
	0040	6181000	MOBILIZATION	LS	\$50,000.000	0.500	\$25,000.00
	0050	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$35,000.000	0.200	\$7,000.00
	0060	8025006	MULCHING	ACRE	\$5,000.000	0.050	\$250.00
	0070	8031000A	TURF TYPE TALL FESCUE SODDING	SQYD	\$150.000	25	\$3,750.00
	0080	8051000A	SEEDING - COOL SEASON GRASSES	ACRE	\$2,500.000	0.050	\$125.00
	0120	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	EA	\$3,123.000	5	\$15,615.00
	0130	9011115	BRACKET ARM, 15 FT. OR 4.6 M	EA	\$1,211.000	5	\$6,055.00
	0140	9011313	LUMINAIRE, LED-C	EA	\$373.000	5	\$1,865.00
	0150	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	EA	\$9,750.000	3	\$29,250.00
	0160	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	LF	\$19.000	39	\$741.00
	0170	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	LF	\$30.000	62	\$1,860.00
	0180	9014003	CONDUIT, 3 IN. RIGID, PUSHED	LF	\$30.000	486	\$14,580.00
	0190	9015010	TRENCHING TYPE I	LF	\$10.000	168	\$1,680.00
	0200	9016110	PULL BOX, PREFORMED CLASS 1	EA	\$1,232.000	4	\$4,928.00
	0210	9016112	PULL BOX, PREFORMED CLASS 3	EA	\$2,303.000	2	\$4,606.00
	0220	9017002	CABLE, 2 AWG 1 CONDUCTOR	LF	\$3.750	189	\$708.75
	0230	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	LF	\$0.980	600	\$588.00
	0250	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	LF	\$4.600	810	\$3,726.00



Pay Estimate Created Date: June 2, 2025

Prog Estimate	gress e Numb 4		Contract ID Prime Contractor		240517-H08 Pay Period St Koch Electric, Inc. Pay Period Er			May 16, 2 June 1, 2		Original Contr Net Change O Current Contr	rder Amount	:	\$1,510,875.30 \$0.00 \$1,510,875.30
Project Number		Line umber	Item Code		Item Description Unit Unit Price Current Installed Qty								ent Installed Amount
JSE0169	(0260	9018245	POLE F	OUNDATION (45	FT. OR 13.5		G HEIGHT)	EA	\$1,558.000		5	\$7,790.00
Project JS	SE0169	- Tota	l.										\$140,617.75
Overall -	Total												\$140,617.75
. ine Item / Project Number	Adjustm Line No.	nents 1	Item Descrip		Adjustment Type	Other Item Adjustment Type		Comm	nents		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSE0169	0060	MULC	HING		Material	1360					-0.81000	\$5,000.00	(\$4,050.00)
	0060	MULC	HING		MaterialCredit						0.76000	\$5,000.00	\$3,800.00
		TURF SODD	TYPE TALL F	ESCUE	Material						-25	\$150.00	(\$3,750.00)
		SEEDI GRAS	ING - COOL S SES	SEASON	Material						-0.81000	\$2,500.00	(\$2,025.00)
		SEEDI GRAS	ING - COOL S SES	SEASON	MaterialCredit						0.76000	\$2,500.00	\$1,900.00
Total													(\$4,125.00)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Inform	nation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JSE0169	FAS S705(28)	Lighting improvements	60, 63, 67, PP	BUTLER	at various locations in th	e Southeast District	
Totals b	by Job Ni	umbers					
JSE0169		d Item Pay Item Adjustmer		tem Pay	This Estimate \$140,617.75 (\$4,125.00) \$136,492.75	Previous \$348,861.80 (\$5,700.00) \$343,161.80	To Date \$489,479.55 (\$9,825.00) \$479,654.55
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8025006, Project Item Line Number 0060, Material Set 8025006, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Have not received the certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8031000A, Project Item Line Number 0070, Material Set 8031000A96, Material 0803SO - Sod, Acceptance Action Generic 0803SO is insufficient.	Have not received the certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8051000A, Project Item Line Number 0080, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Have not received the certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8051000A, Project Item Line Number 0080, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Have not received the certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8051000A, Project Item Line Number 0080, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Have not received the certification.	thomar1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See report generated date)
240517-	JSE0169	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.20	\$20,000.00	\$4,000.0
108		0001	0020	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,000.0
		0001	0030	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.40	\$65,000.00	\$26,000.0
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$50,000.00	\$37,500.0
		0001	0050	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$35,000.00	\$17,500.0
		0001	0060	8025006	MULCHING	1.70	0.00	1.70	ACRE	0.81	\$5,000.00	\$4,050.0
		0001	0070	8031000A	TURF TYPE TALL FESCUE SODDING	25.00	0.00	25.00	SQYD	25.00	\$150.00	\$3,750.0
		0001	0080	8051000A	SEEDING - COOL SEASON GRASSES	1.70	0.00	1.70	ACRE	0.81	\$2,500.00	\$2,025.0
		0001	0090	8061005	ROCK DITCH CHECK	500.00	0.00	500.00	LF	0.00	\$10.00	\$0.
		0001	0100	8061019	SILT FENCE	1,000.00	0.00	1,000.00	LF	0.00	\$4.50	\$0.
		0020	0110	9011010	RELOCATED POLE	1.00	0.00	1.00	EA	1.00	\$5,500.00	\$5,500.
		0020	0120	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	76.00	0.00	76.00	EA	23.00	\$3,123.00	\$71,829.
		0020	0130	9011115	BRACKET ARM, 15 FT. OR 4.6 M	76.00	0.00	76.00	EA	23.00	\$1,211.00	\$27,853.
	0020 0140 9011313 LUMINAIRE, LED-		9011313	LUMINAIRE, LED-C	96.00	0.00	96.00	EA	20.00	\$373.00	\$7,460.	
		0020	0150	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	17.00	0.00	17.00	EA	6.00	\$9,750.00	\$58,500.
		0020	0160	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	666.00	0.00	666.00	LF	243.00	\$19.00	\$4,617.
		0020	0170	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	645.00	0.00	645.00	LF	134.00	\$30.00	\$4,020.
		0020	0180	9014003	CONDUIT, 3 IN. RIGID, PUSHED	5,610.00	0.00	5,610.00	LF	2,040.00	\$30.00	\$61,200.
		0020	0190	9015010	TRENCHING TYPE I	10,336.00	0.00	10,336.00	LF	877.00	\$10.00	\$8,770.
		0020	0200	9016110	PULL BOX, PREFORMED CLASS 1	67.00	0.00	67.00	EA	22.00	\$1,232.00	\$27,104.
		0020	0210	9016112	PULL BOX, PREFORMED CLASS 3	19.00	0.00	19.00	EA	6.00	\$2,303.00	\$13,818.
		0020	0220	9017002	CABLE, 2 AWG 1 CONDUCTOR	2,750.00	0.00	2,750.00	LF	993.00	\$3.75	\$3,723.
		0020	0230	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	8,910.00	0.00	8,910.00	LF	2,760.00	\$0.98	\$2,704.
		0020	0240	9017404	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 6 AWG	5,760.00	0.00	5,760.00	LF	0.00	\$5.40	\$0.
		0020	0250	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	12,990.00	0.00	12,990.00	LF	2,705.00	\$4.60	\$12,443
		0020	0260	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	77.00	0.00	77.00	EA	24.00	\$1,558.00	\$37,392.
		0020	0270	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	5.00	0.00	5.00	EA	1.00	\$17,720.00	\$17,720
	Project 1	SE0169 - To	tal Value	Posted to D	ate as of Report Generated Date							\$489,479.



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
010	2022010	REMOVAL OF IMPROVEMENTS	5/29/25	6/2/25	0.20	LS	Locations 7-11	0		0		
030	6169901	MISC.		6/2/25	0.10		Locations 8-13	0		0		
040	6181000	MOBILIZATION	5/29/25	6/2/25	0.50	LS	Paid at over 25% of the contract.	0		0		
050	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	5/29/25	6/2/25	0.20	LS	Loc. 1-13	0		0		
060	8025006	MULCHING	5/27/25	6/2/25	0.02	ACRE	Location 10	0		0		
				6/2/25	0.03	ACRE	Location 9	0		0		
070	8031000A	TURF TYPE TALL FESCUE SODDING	5/27/25	6/2/25	25.00	SQYD	Location 9 (NW Quadrant only)	0		0		
080	8051000A	SEEDING - COOL SEASON GRASSES	5/27/25	6/2/25	0.02	ACRE	Location 10	0		0		
				6/2/25	0.03	ACRE	Location 9	0		0		
120	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT	5/27/25		1.00	EA	Location 10 (P-10A)	0		0		
				6/2/25	1.00		Location 10 (P-10B)	0		0		
			5/29/25	6/2/25	1.00		Location 11 (P-11A)	0		0		
				6/2/25	1.00		Location 11 (P-11B)	0		0		
				6/2/25	1.00		Location 11 (P-11C)	0		0		
0130	9011115	BRACKET ARM, 15 FT. OR 4.6 M	5/27/25		1.00		Location 10 (P-10A)	0		0		
			5/00/05	6/2/25	1.00		Location 10 (P-10B)	0		0		
			5/29/25		1.00		Location 11 (P-11A)	0		0		
				6/2/25	1.00		Location 11 (P-11B)	0		0		
140	9011313	LUMINAIRE, LED-C	5/27/25	6/2/25	1.00		Location 11 (P-11C) Location 10 (P-10A)	0		0		
- 1 4 U	3011313	LOWINGINE, LED-C	JIZ1120	6/2/25	1.00		Location 10 (P-10A) Location 10 (P-10B)	0		0		
			5/29/25	6/2/25	1.00		Location 10 (P-10B) Location 11 (P-11A)	0		0		
			0.20120	6/2/25	1.00		Location 11 (P-11B)	0		0		
				6/2/25	1.00		Location 11 (P-11C)	0		0		
150	9012230	BASE MOUNTED CONTROL STATION	5/27/25		1.00		Location 10	0		0		
				6/2/25	1.00		Location 9	0		0		
			5/29/25		1.00		Location 11	0		0		
160	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH		6/2/25	22.00		Location 10 (P Supply Exist to CONT)	0		0		
				6/2/25	17.00	LF	Location 11 (P SUPPLY EXIST to CONT)	0		0		
170	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	5/27/25	6/2/25	31.00	LF	Location 10 (CONT to PB-10A)	0		0		
			5/29/25	6/2/25	31.00	LF	Location 11 (Cont to PB-11A)	0		0		
180	9014003	CONDUIT, 3 IN. RIGID, PUSHED	5/27/25	6/2/25	77.00	LF	Location 10 (PB-10A to PB-10B)	0		0		
			5/29/25	6/2/25	136.00	LF	Location 11 (PB-11A to PB-11B)	0		0		
				6/2/25	136.00	LF	Location 11 (PB-11C to PB-11D)	0		0		
				6/2/25	137.00	LF	Location 11 (PB-11B to PB-11C)	0		0		
190	9015010	TRENCHING TYPE I	5/27/25	6/2/25	31.00	LF	Location 10 (PB-10B to P-10B)	0		0		
				6/2/25	38.00	LF	Location 10 (PB-10A to P-10A)	0		0		
			5/29/25	6/2/25	16.00	LF	Location 11 (PB-11B to P-11B)	0		0		
				6/2/25	16.00	LF	Location 11 (PB-11D to P-11D)	0		0		
				6/2/25	29.00		Location 11 (PB-11C to P-11C)	0		0		
				6/2/25	38.00	LF	Location 11 (PB-11A to P-11A)	0		0		
200	9016110	PULL BOX, PREFORMED CLASS 1		6/2/25	1.00		Location 10 (PB-10B)	0		0		
			5/29/25		1.00		Location 11 (PB-11B)	0		0		
				6/2/25	1.00		Location 11 (PB-11C)	0		0		
				6/2/25	1.00		Location 11 (PB-11D)	0		0		
1210	9016112	PULL BOX, PREFORMED CLASS 3	5/27/25		1.00		Location 10 (PB-10A)	0		0		
220	9017002	CABLE, 2 AWG 1 CONDUCTOR		6/2/25 6/2/25	1.00		Location 11 (PB-11A)	0		0		
£2U	9017002	CABLE, 2 AVIG I CONDUCTOR	5/27/25		102.00		Location 10 (Power supply to Cont.) Location 11 (P Supply Exist to CONT)	0		0		
230	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE & BRACKE	5/29/25		120.00		Location 11 (P Supply Exist to CONT) Location 10 (P-10A)	0		0		
	501110		0.21120	6/2/25	120.00		Location 10 (P-10A)	0		0		
			5/29/25		120.00		Location 11 (P-11A)	0		0		
				6/2/25	120.00		Location 11 (P-11B)	0		0		
				6/2/25	120.00		Location 11 (P-11C)	0		0		
250	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS	5/27/25		39.00		Location 10 (CONT to PB-10A)	0		0		
				6/2/25	46.00		Location 10 (PB-10A to P-10A)	0		0		
				6/2/25	124.00		Location 10 (PB-10A to P-10B)	0		0		
			5/29/25		39.00		Location 11 (CONT to PB-11A)	0		0		
				6/2/25	46.00	LF	Location 11 (PB-11A to P-11A)	0		0		
				6/2/25	167.00	LF	Location 11 (PB-11C to P-11D)	0		0		
				6/2/25	168.00	LF	Location 11 (PB-11A to P-11B)	0		0		
				6/2/25	181.00	LF	Location 11 (PB-11B to P-11C)	0		0		
260	9018245	POLE FOUNDATION (45 FT. OR 13.5 M	5/27/25	6/2/25	1.00	EA	Location 10 (P-10A)	0		0		
				6/2/25	1.00	EA	Location 10 (P-10B)	0		0		
			5/29/25	6/2/25	1.00	EA	Location 11 (P-11A)	0		0		
				6/2/25	1.00	EA	Location 11 (P-11B)	0		0		
				6/2/25	1.00	FΑ	Location 11 (P-11C)	0		0		

The information below this line are details for Construction Signs (if applicable), No Data Available



Ducient	Line	Description	A -l'austas surt	Others	Est	One stad	One stard	A	Deve seles
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0169	0030	MISC.	Material		1	Apr 16, 2025	SYSTEM	(\$13,000.00)	
					1	Apr 16, 2025	SYSTEM	\$13,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thomar1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	May 1, 2025	SYSTEM	(\$13,000.00)	
					2	May 1, 2025	SYSTEM	\$13,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0030 -	Total						\$0.00	
	0060	MULCHING	Material		2	May 1, 2025	SYSTEM	(\$3,300.00)	
					2	May 1, 2025	SYSTEM	\$3,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thomar1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	May 15, 2025	SYSTEM	(\$3,800.00)	
					4	Jun 2, 2025	SYSTEM	(\$4,050.00)	
				- Total		1		(\$7,850.00)	
			Material - Tota	1				(\$7,850.00)	
			MaterialCredit		4	Jun 2, 2025	SYSTEM	\$3,800.00	
				- Total				\$3,800.00	
			MaterialCredit					\$3,800.00	
	0060	Total						(\$4,050.00)	
		TURF TYPE TALL FESCUE SODDING	Material		4	Jun 2, 2025	SYSTEM	(\$3,750.00)	
					- Total				(\$3,750.00)
			Material - Tota	1				(\$3,750.00)	
	0070 -	Total						(\$3,750.00)	
	0080	SEEDING - COOL	Material		2	May 1, 2025	SYSTEM	(\$1,650.00)	
		SEASON GRASSES			2	May 1, 2025	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	May 15, 2025	SYSTEM	(\$1,900.00)	
					4	Jun 2, 2025	SYSTEM	(\$2,025.00)	
				- Total				(\$3,925.00)	
			Material - Tota	I				(\$3,925.00)	
			MaterialCredit		4	Jun 2, 2025	SYSTEM	\$1,900.00	
				- Total				\$1,900.00	
			MaterialCredit	- Total				\$1,900.00	
	0080	Total						(\$2,025.00)	
	0120	LIGHTING POLE, 45 FT.	Material		2	May 1, 2025	SYSTEM	(\$28,107.00)	
		OR 13.5 M, TYPE AT			2	May 1, 2025	SYSTEM	\$28,107.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user thomar1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0120	Total						\$0.00	
	0130	BRACKET	Material		2	May 1,	SYSTEM	(\$10,899.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
SE0169	0130	ARM, 15 FT.	Material			2025			
		OR 4.6 M			2	May 1, 2025	SYSTEM	\$10,899.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user thomar1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0130 -	Total						\$0.00	
	0140	LUMINAIRE, LED-C	Material		2	May 1, 2025	SYSTEM	(\$3,357.00)	
					2	May 1, 2025	SYSTEM	\$3,357.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user thomar1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0140 -	Total						\$0.00	
	0150	MOUNTED	Material		1	Apr 16, 2025	SYSTEM	(\$9,750.00)	
		CONTROL STATION			1	Apr 16, 2025	SYSTEM	\$9,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	May 1, 2025	SYSTEM	(\$19,500.00)	
					2	May 1, 2025	SYSTEM	\$19,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user thomar1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0150 -	Total						\$0.00	
	0160	Conduit, 2 In. Rigid, In Trench	D, IN		2	May 1, 2025	SYSTEM	(\$209.00)	
					2	May 1, 2025	SYSTEM	\$209.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thomar1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0160 -	Total						\$0.00	
	0170	CONDUIT, 4 IN. RIGID, IN TRENCH	Material		1	Apr 16, 2025	SYSTEM	(\$900.00)	
		TRENCH			1	Apr 16, 2025	SYSTEM	\$900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					2	May 1, 2025	SYSTEM	(\$1,530.00)	
					2	May 1, 2025	SYSTEM	\$1,530.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user thomar1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
								\$0.00	
	0170 -	Total	Material						
	0170 - 0180	CONDUIT, 3 IN. RIGID,	Material		1	Apr 16, 2025	SYSTEM	(\$18,720.00)	
		CONDUIT, 3	Material		1		SYSTEM SYSTEM	(\$18,720.00) \$18,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user thomar1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		CONDUIT, 3 IN. RIGID,	Material			2025 Apr 16,			Estimate Item Adjustment (0004) due to user thomar1 overridding Payment
		CONDUIT, 3 IN. RIGID,	Material		1	2025 Apr 16, 2025 May 1,	SYSTEM	\$18,720.00	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment



Jun 5, 2025

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
169	0180	CONDUIT, 3 IN. RIGID, PUSHED	Material - Tota	nl				\$0.00		
	0180 -	Total						\$0.00		
	0200	PULL BOX, PREFORMED CLASS 1	Material		2	May 1, 2025	SYSTEM	(\$14,784.00)		
		CLASS I			2	May 1, 2025	SYSTEM	\$14,784.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user thomar1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
	0200 -	Total						\$0.00		
	0210	PULL BOX, PREFORMED	Material		2	May 1, 2025	SYSTEM	(\$4,606.00)		
		CLASS 3			2	May 1, 2025	SYSTEM	\$4,606.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user thomar1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	
				- Total	1			\$0.00		
			Material - Tota	l .				\$0.00		
	0210 -	Total						\$0.00		
		CABLE, 2 AWG	Material		2	May 1,	SYSTEM	(\$821.25)		
		1 CONDUCTOR			2	2025 May 1,	SYSTEM	\$821.25	This adjustment offsets the original system-generated Material Payment	
				T ()	2025		AA AA	Estimate Item Adjustment (0001) due to user thomar1 overridding Payment Estimate Exception 17 on the current Payment Estimate.		
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
	0220 -							\$0.00		
	0230	30 CABLE, 10 AWG 1 CONDUCTOR, POLE & BRACKE	AWG 1 CONDUCTOR, POLE &	Material		2	May 1, 2025 May 1,	SYSTEM	(\$1,058.40)	
						20		SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user thomar1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
	0230 -	Total						\$0.00		
	0250	CABLE- CONDUIT, 1 IN., 2	Material		2	May 1, 2025	SYSTEM	(\$2,815.20)		
		CONDUCTORS			2	May 1, 2025	SYSTEM	\$2,815.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user thomar1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	
				- Total	1			\$0.00		
			Material - Tota	1				\$0.00		
	0250 -	Total								
		250 - Total	otal					\$0.00		
	0260	POLE FOUNDATION	Material		2	May 1, 2025	SYSTEM	\$0.00 (\$14,022.00)		
	0260		Material		2		SYSTEM SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user thomar1 overridding Payment Fetimate Everention 20 on the current Payment Fetimate	
	0260	FOUNDATION (45 FT. OR	Material	- Total		2025 May 1,		(\$14,022.00) \$14,022.00		
	0260	FOUNDATION (45 FT. OR		- Total		2025 May 1,		(\$14,022.00) \$14,022.00 \$0.00	Estimate Item Adjustment (0016) due to user thomar1 overridding Payment	
		FOUNDATION (45 FT. OR 13.5 M	Material Material - Tota			2025 May 1,		(\$14,022.00) \$14,022.00 \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user thomar1 overridding Payment	
	0260 -	FOUNDATION (45 FT. OR 13.5 M				2025 May 1,		(\$14,022.00) \$14,022.00 \$0.00	Estimate Item Adjustment (0016) due to user thomar1 overridding Payment	
	0260 -	FOUNDATION (45 FT. OR 13.5 M Total POWER	Material - Tota		2	2025 May 1, 2025 Apr 16,	SYSTEM	(\$14,022.00) \$14,022.00 \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user thomar1 overridding Payment	
	0260 -	FOUNDATION (45 FT. OR 13.5 M Total POWER SUPPLY ASSEMBLY, TYPE 2,	Material - Tota		2	2025 May 1, 2025 Apr 16, 2025 Apr 16,	SYSTEM	(\$14,022.00) \$14,022.00 \$0.00 \$0.00 (\$17,720.00)	Estimate Item Adjustment (0016) due to user thomar1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	



Jun 5, 2025

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0169	0270	POWER SUPPLY	Material			2025			Estimate Item Adjustment (0017) due to user thomar1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
		ASSEMBLY, TYPE 2,		- Total				\$0.00	
		240/120	Material - Tota	Total				\$0.00	
	0270 -	Total						\$0.00	
JSE0169	ISE0169 - Total								
Overall -	Overall - Total							(\$9,825.00)	



There are no contract adjustments to display for this contract.